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INTRODUCTION:
STARSHIP COMBAT ROUND:

As with any time-critical situation, Starship combat is measured in rounds. Every round is divided in 2 parts called “phases”, one Movement Phase and one Tactical Phase; each ship must finish its Phase before they can proceed to the next Phase.
During the Movement Phase the ship moves one time using a movement marker, and during the Tactical phase each starship can perform two special actions called Maneuvers. The Crew may devote one of these actions to initiate a Maneuver (see “Using Maneuvers”), to a Maximum of their normal action allowance per round (with penalties and professional abilities included). There are three types of Maneuvers: Helm, Tactical, and Command Maneuvers. Many Command Maneuver (See Maneuvers) grant the Starship the ability to get extra Maneuver in excess of the Starship’s action allowance. Some professional abilities will give the ship one extra Helm (Flight Control Officer’s “Combat Piloting”) or Tactical Helm Maneuver per Round (Security Officer “Combat Tactician” professional abilities), these characters can decide in which Sequence to use them.
Initiative:

The order in which starships act during each Phase is determined by the Initiative.

Initiative is a Tactics skill test performed by each Commander of all participating starships.

-In the Movement Phase, ships act in order from lowest to highest initiative test result.

-In the Tactical Phase, ships act in order from highest to lowest initiative test result.

-Characters lacking the Tactics skill add 0 to their skill test and subtract 2 from the final test result.

-Commanders make initiative tests at the beginning of the first combat round and maintain it throughout the encounter.

-In result of a tie, the commander with the highest level in the Tactics skill acts first. If both commanders have the same Tactics level, the one with a relevant specialty (if appropriate) goes first; otherwise the commander with the largest vessel (by size) goes first. Finally, if the tie cannot be resolved in this manner, re-roll ties between any tying commanders in order to resolve the deadlock.

-Skilled commanders can predict what an opponent will do. If the captain with the highest tactics result achieves a Complete success his opponent must reveal the starship movement in the movement phase, on a Superior success his first maneuver in the tactical phase, and on an Extra-ordinary success his second maneuver.

Movement Phase:
-In the Movement Phase, ships act in order from lowest to highest test result.
-If a starship is cloaked, you may move as last even if your opponent has a higher initiative.

-Starship combat uses a playmate; each cm represents roughly 7.500 km.
-A starship moves using maneuver templates. There are 5 types of maneuver templates: Straight, Bank (45°), Turn (90°), Come About (180°), and Full Astern (Backwards).
	
	Table 1 Movement

	Speed:
	Full Astern:
	Straight:
	Bank (45°):
	Turn (90°):
	Come About (180°):

	1
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	TN 10
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	TN 5
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	TN 15
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	TN 20
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	TN 25

	2+
	-
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	TN 5

+

Speed
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	TN 10

+

Speed
	[image: image8.jpg]



	TN 15

+

Speed
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	TN 20

+

Speed


-Moving the ship is a free action for the ship, but it costs the character at the helm an action. Each of the maneuver templates has a TN (see above) to initiate. If you fail the test, the starship performs the move, but the starship suffers a -1 penalty on all maneuvers and Protection this round. When you suffer a Complete Failure, increase the penalty to -2, and the starship suffers a minor collision when moving through obstacle. When you suffer a Disastrous Failure increase the penalty to -4, and the starship suffers a minor collision when moving through obstacle.

-Each starship has a Base Movement, if a starship wants to execute a maneuver not listed on its Base Movement, it must transfer energy to the engines to do so.
-Some places like planets and starbases are represented by tokens. If you measure these tokens, you will come to the conclusion that they are too big. Thus when using these tokens, you must think that you are using a magnifying glass to look at them. When a ship is on one of these tokens, they must reduce speed to avoid a crash or take gravity in to account, and there for you use the same maneuver templates, but they represent lesser distance.

Tactical Phase::
-During the Tactical phase, starships may perform Command, Helm, or Tactical Maneuvers.
-In the Tactical Phase, ships act in order from highest to lowest initiative test result.

-Point Blank Range = Bases of the ships are touching.

-Make a new Range Bar with 4 ranges Short, Medium, Long, Extended range. 

ATTACKING & DAMAGE:

When a starship executes an attack maneuver, make the appropriate skill test and consult Table 2: Starship Combat Test Results. Typically, the target number for the attack is the opposing ship’s shield protection value. Failing to beat the TN doesn’t mean the attack necessarily missed, but can indicate a glancing hit, or one harmlessly absorbed by the shields. The success of the hit determines the extent to which the attack reduces the strength of the opposing ship’s shields. As strength is reduced, mark off the boxes on the ship’s Shield Strength Track, starting from the top (10, Full Strength) down to the bottom (0, Shields Down). The Shield Strength Track also lists various secondary effects resulting from crossing off the associated box, such as a panel shorting out or a reduction to the shield’s protection. These effects are applied immediately. For attacks that reduce shield strength by two or more, apply these effects cumulatively. Thus, with an extraordinary success that reduces shields from 100% to 70%, a bridge panel shorts out and shield protection is reduced by 1. Damage recorded in this way applies only to deflector shields, not the ship itself.

	TABLE 2: STARSHIP COMBAT TEST RESULT

	Margin of Success:
	Result:

	Below TN
	Ship missed (no effect on shields)

	Equals TN
	Marginal Success: Apply damage normally; do not reduce shield strength

	1-5 above TN
	Complete Success: Reduce shield strength by 1D6 +4 = 5-10%

	6-10 above TN
	Superior Success: Reduce shield strength by 1D6 +14 = 15-20%

	11+ above TN
	Extraordinary Success: Reduce shield strength by 1D6 +24 = 25-30%


EXAMPLE: The Resolute engages several Jem’Hadar ships. The captain orders a Multifire (Tactical) maneuver, allowing the Resolute to attack two ships simultaneously. The protection rating of the Jem’Hadar ship is 9. Multifire modifies this by +5, making the target number to hit the ship a TN 14. The player rolls the dice, adds his System Operation (Tactical) skill and his Int. modifier, and obtains a test result of 15. The shot exceeded the TN by 1, so the shield strength on one Jem’Hadar ship is reduced by one.

	TABLE 3: SHIELD STRENGHT TRACK

	Strength:
	Effect (If any):

	100%
	Full strength

	90%
	Bridge panel shorts! (TN 10 Stamina test to shrug off or Stunned for 1D6 Rounds)

	80%
	

	70%
	Shield protection rating reduced by 1

	60%
	

	50%
	Primary system hit, make roll on Table 4

	40%
	Shield threshold reduced by 1 (minimum 0)

	30%
	

	20%
	Bridge hit, console explodes! (1D6 wounds)

	10%
	Primary system hit, make roll on Table 4

	0%
	Shields down! Protection set to 5, no threshold


Battle Damage:

In order for an attack to damage its target, it must penetrate the opponent’s deflector shields. A shield’s threshold rating represents the amount of damage it can absorb in a single attack. A weapon’s penetration represents its “stopping power,” the amount of damage it causes to a target. If an attack maneuver succeeds in overcoming the opposing ship’s protection, compare the weapon’s penetration with the target’s shield threshold. Each weapon has a different penetration value depending on the range of the target. If the penetration is lower than the threshold, no damage is applied to the ship. If the penetration is higher than the threshold, on the other hand, apply the difference as damage to the opponent’s damage track (see Table 5). If a ship lacks functioning shields, or the opponent is caught with his shields down, all damage applies to directly to the ship’s hull (see “The Damage Track”) as with shields, the success of the hit determines the extent to which the attack reduces the structure of the opposing ship with no shields. A Complete Success causes one extra point of damage, a Superior success cause 2 extra points of damage, and an Extra-Ordinary Success causes 3 points of extra damage.

EXAMPLE: Continuing the above example, the Resolute’s weapon penetration at the current range is 5, and the Jem’Hadar ship’s threshold is 2. Since the Resolute’s penetration is higher, the difference is applied as damage directly to the hull of the Jem’Hadar ship.

Keeping Track Of Damage:

When an attack penetrates an opposing ship’s shields and damages the vessel’s hull, the damage must be marked off from the ship’s structure. Structure represents the ship’s hull integrity, with larger ships and those made of tougher materials tending to have a higher structure. While a successful attack may or may not damage individual systems, every attack that penetrates the shields causes structure damage. As structure is marked off, a critical may occur. Criticals cause damage to the ship’s systems. For every 5 points of damage the ship suffers, Table 4: System Damage must be consulted to determine which system is damaged. If damage reduces Structure to zero, the ship is destroyed, even if it still has functioning systems.

EXAMPLE: The Resolute successfully caused 3 points of damage to a Jem’Hadar ship. It loses 3 points of damage from its starting structure of 20, leaving it with 17 Structure. If the vessel takes two more points of damage, the vessel suffers the effect rolled on Table 4: System Damage.

	TABLE 4: SYSTEM DAMAGE

	Light/Fast Classification:
	Heavy/Warship Classification:
	All Other Classifications:

	Roll:
	System:
	Roll:
	System:
	Roll:
	System:

	2
	Life Support
	2
	Life Support
	2
	Life Support

	3
	Shields
	3
	Shields
	3-4
	Shields

	4
	Weapons
	4-5
	Weapons
	5-6
	Weapons

	5-7
	Operations
	6-7
	Operations
	7-8
	Operation

	8-9
	Sensors
	8-9
	Propulsion
	9
	Sensors

	10
	Propulsion
	10-11
	Sensors
	10
	Propulsion

	11
	All Systems
	12
	All Systems
	11
	Weapons & Operations

	12
	All Systems x2
	
	
	12
	All Systems


System Damage:

Anytime a vessel sustains damage that eliminates the last box in any row of structure, individual ship systems suffer damage. As systems are damaged, they may cause cumulative penalties, modifiers, or outright destruction. Consult Table 4: System Damage to determine the affected system(s) sustaining excessive damage. Locate the appropriate sub-table for the target ship’s classification and roll 2d6 to find the system damaged in the attack. Next consult the individual system failure track (See Table 5) to determine the specific results affecting combat.

	TABLE 5: SYSTEM DAMAGE TRACK

	R:
	BOX:
	MODIFIERS:
	R:
	BOX:
	MODIFIERS:

	
	
	
	
	
	

	SENSORS:
	PROPULSION:

	F
	
	-1 HELM MANEUVERS
	F
	
	-1 INITIATIVE

	E
	
	-1 ALL MANUVERS
	E
	
	-1 TO HELM MANEUVERS

	D
	
	-1 INITIATIEVE
	D
	
	-1 INITIATIEVE

	C
	
	-2 TACTICAL MANEUVERS
	C
	
	-2 TO HELM MANEUVERS

	B
	
	CANNOT EXECUTE LOCK ON
	B
	
	-2 INITIATIEVE

	A
	
	SYSTEM OFFLINE: VESSEL BLIND
	A
	
	SYSTEM OFFLINE: CORE BREACH!!!

	
	
	
	
	
	

	OPERATIONS:
	WEAPONS:

	F
	
	-1 INITIATIVE
	F
	
	IMMEDIATLY LOSE LOCK ON

	E
	
	-1 COMMAND
	E
	
	-1 TACTICAL MANEUVERS

	D
	
	-1 COMPUTER USE TESTS
	D
	
	-1 PENETRATION ALL ARRAYS

	C
	
	-2 INITIATIVE
	C
	
	NO TIER 2 TACTICAL MANEUVERS

	B
	
	-2 ALL MANEUVERS
	B
	
	-2 TACTICAL MANEUVERS

	A
	
	SYSTEM OFFLINE: CLOAK OFFLINE
	A
	
	SYSTEM OFFLINE

	
	
	
	
	
	

	LIFE SUPPORT:
	SHIELDS:

	F
	
	EMERGENCY LIGHTING: -1 TO ALL PHYSCAL TESTS
	F
	
	-1 SHIELD STRENGTH

	E
	
	CONSOLE EXPLODES! = STAM TEST TN 10 OR STUN 1D3 R
	E
	
	-1 SHIELD STRENGTH

	D
	
	CONSOLE EXPLODES! = QUICK TEST TN 10 OR 1D6 WOUNDS
	D
	
	-1 PROTECTION RATING

	C
	
	GRAVITY FAILING: -2 ALL PHYS TESTS
	C
	
	-1 THRESHHOLD

	B
	
	THIN ATMOSPHERE: TN 10 STAM TEST OR STUN 1D6 R
	B
	
	-2 PROTECTION RATING

	A
	
	SYSTEM OFFLINE: 2D6 ROUND TO ABANDON SHIP
	A
	
	SYSTEM OFFLINE: SHIELDS DOWN


System Damage Tracks:

Each category of system—life support, operations propulsion, sensors, shields, and weapons—have a system damage track. These tracks represent the cumulative amount of damage that a system can sustain before failing. As a system sustains more damage, its effectiveness is reduced. In some cases, such as life support, total failure of a system can have deadly consequences. Every system recorded on the starship profile has a reliability rating, ranging from A to F. Systems with a Class A reliability lack backup and redundant systems, and so are more easily damaged in battle. Systems with Class F reliability can sustain more damage while continuing to function. This reliability rating establishes an individual damage track for the system. When an indicated system is hit, mark off one box on the system’s damage track, starting with the topmost box. Each damage level lists an effect to the right of the box, such as -2 to initiative or -2 to tactical maneuvers. As damage accumulates, penalties add up. Any system that has all of its boxes marked off no longer functions.

Collision Damage:

Collisions may occur – either as accidents or as intentional moves (as per the Ramming Speed (H) maneuver Collisions might be very serious and often lead to catastrophic consequences – they are to be avoided whenever possible. There are three types of collision severity:
Minor Collision: Both ships either brush each other as high speeds, or hit one another fully but at minimal speeds.

Major Collision: Both ships hit one another at medium speeds, but with different vectors, hence allowing each ship to escape the worst.

Full Collision: One (or possibly both) of the ships sets a collision course with the other, fully intending to ram it and do the maximum damage.
	TABLE 6: COLLISION DAMAGE

	Type:
	Damage:

	Minor Collision
	One quarter of the other ship’s current structure + remaining shield strength

	Major Collision
	Half the other ship’s current structure + remaining shield strength

	Full Collision
	The other ship’s current structure + remaining shield strength


When a collision happens, both ships suffer damage based on the other’s remaining structure and shield strength – see Table 6.

Secondary Systems:

As system damage goes, not only the critical systems are hit – secondary systems are too, and sometimes, these provide crucial functionality that can be direly needed at specific times. If the Narrator wishes to add more detail to the damage received by ships, he can, at the same time and every time a critical system is hit, roll 3D6 on Table 7 to determine what secondary systems fail completely – they cannot be used until repaired. These can be repaired individually using the normal rules. Power can also be transferred to them using the classical rules. However, when one point of damage is repaired on a critical system, the engineer can choose to restore freely a secondary system as well. If the roll indicates a system that is not present on board, roll again.

	TABLE 7: SECONDARY SYSTEMS DAMAGE

	Roll 3D6:
	System:

	3
	Escape Pods

	4
	Medical Facilities

	5
	Starship: Navigational Deflector* / Station: Orbital Correctors and Sublight Systems

	6
	Auto-destruct System

	7
	Starship: Separation System / Station: Engineering Facilities

	8
	Personnel Transportation (Turbolifts…)

	9
	All Docking Facilities (Shuttlebays, Docking Ports and Pylons / Berths)

	10
	Recreational Facilities

	11
	Cargo Holds and Replicators

	12
	Transporters

	13
	Tractor Beams

	14
	Science Systems

	15
	Inertial Dampening Fields* and Shield Modulators**

	16
	Communications Systems

	17
	Internal Security Systems (Brig, internal and emergency forcefields…)

	18
	Fire Suppression System

	* See pg 7 “Damaged Ships And FTL Travel” for effects at warp speeds.

** Prevents any modification in shield modulation.


Reactor Overloads:

The main reactor of the ship, or starbase (the warp core for Federation ships, the quantum singularity for Romulan ships…) is a delicate system, that, if destabilized in battle, may explode, resulting in the total destruction of the spacecraft. Each time the propulsion (or power, for a starbase) system suffers battle damage (and battle damage only), roll 2D6 and add the reliability modifier of the corresponding remaining blocks. The TN for this test is 10. If failed, the reactor overloads (on a Federation starship, the warp core breaches). Roll 1D6 on Table 8 to determine the severity of the breach. Depending on the situation and their judgment, the Crew have four solutions at their disposal to prevent the destruction of the craft: eject the reactor, shut it down, separate the ship (if possible) and leave the part with the reactor behind, or attempt to contain the overload (Consult Starship Rules for these rules.).

Minor Overload: The integrity of the reactor is not harmed, but a secondary system fails, flooding Engineering and adjacent sections with harmful radiation and gases: all characters in Engineering suffer 6D6 damage – or casualties can occur (see “Casualties”).

Major Overload: The main reactor is destabilized (for example, a warp core micro-fracture occurs). The Crew has 2D6 rounds to contain the situation, or otherwise the reactor automatically passes into Critical Overload status. The test needed to contain the overload is the same as the one used for containing a core breach. If the system suffers another critical hit before the situation is contained, a critical overload happens automatically, and all benefit from previous Engineering tests is lost.

Critical Overload: The main reactor fails catastrophically; for example, on a Starfleet vessel, the warp core breaches. Consult

Starships Rules to see how the breach can be contained. If the system suffers another critical hit before the overload is resolved, the ship (or station) explodes automatically, killing everyone on board.

	TABLE 8: MAIN REACTOR OVERLOADS

	Roll 1D6:
	Effect:

	1-3
	Minor Overload

	4-5
	Major Overload

	6
	Critical Overload


Hull Breaches:

If damage does reduce ship capabilities, the first ship component to suffer from it is, of course, the hull. As ships receive damage, hull breaches can occur. These can be a major problem because what’s inside the ship can be sucked into space – atmosphere, but also supplies, hardware, and, unfortunately, people. On modern ships, emergency force-fields kick in automatically, and form a barrier on the breach, isolating the inside of the ship from the vacuum of space. If these fail (for example, if the internal security secondary systems are out), airtight sections close automatically in order to separate the depressurized section from the rest of the ship. More primitive spacecraft only have these sections. Each time the ship suffers damage, a breach can occur: see how much the ship has received in one blow, and compare it to Table 9.

Microscopic Breaches: These cannot be seen to the naked eye, yet, if no containment measure (force-fields or airtight sections) is taken, the atmosphere will slowly leak into space.

Small Breach: A breach this size is roughly one meter in diameter; atmosphere, cargo and people will be projected into space ifno safety measure is present.

Hull Breach: The effects are the same as for small breaches, but the breach, several meters wide, spans some sections or decks.

	TABLE 10: HULL BREACHES

	Damage Sustained:
	Breach Type:

	Less than half Size (round up)
	Microscopic breaches

	Equal to half Size (round up), to Size
	Small breach

	Equal or more than Size
	Hull breach


Damaged Ships And FTL Travel:

Heavily damaged ships often lose structural integrity. While this is not a real problem at Sublight speeds, it can become critical when trying to attain warp speeds: the structural integrity field can collapse very quickly due to gravimetric shear. If a ship attempts any kind of FTL travel while having lost than more than half its structure, it sustains as much structural damage than the warp factor it travels at, per hour. Navigational deflectors are another critical component that prevents terrible damage from happening to ships traveling at warp: they deviate minute interstellar matter that could cause serious harm if it hit the ship at warp speeds. Ships attempting warp travel with no navigational deflector (for example, if it burned out while using a Pentis Maneuver) sustain as much structural damage than the warp factor it travels at per hour. This stacks with damage caused by a weak structural integrity field. If the inertial dampening fields are down, no warp travel might be attempted – the crew would be killed by the acceleration forces.

Casualties:

Unfortunately, as the combat unfolds and ships suffer damage, some crew members may be wounded, or even not survive the fight.

The rules presented here help keep track of shipboard casualties. Please note this only applies to NPCs – PCs should always be treated with full respect to the game mechanics: they should be granted dodge rolls, and damage should be precisely counted. Since these rules also rely heavily of statistics, they should only be applied to capital ships whit a personnel of 30 or 40 people at least. In the case of smaller ships, it’s better to handle damage on a case-per case basis. In terms of game play, the medical officer’s player should keep track of casualties.

	TABLE 11: CREW CASUALTIES

	Damage Sustained:
	Casualties:

	System critical
	10% total crew, divided as 90% wounded, 10% deaths

	Small breach
	5% total crew, divided as 70% wounded, 30% deaths*

	Hull breach
	10% total crew, divided as 50% wounded, 50% deaths*

	Minor reactor overload
	10% total crew, all wounded

	* Provided emergency force fields are in place; if not, 100% of the casualties are deaths.

All percentages are rounded down.


Determining casualties:

Each time the vessel sustains damage, casualties are likely to occur. In order to simplify game mechanics, the detailed health levels are not used. Personnel are qualified as either “Wounded” or “Healthy”. Wounded personnel need medical care, as their lives are in danger. And sometimes, crew members are killed as soon as the attack is sustained, as often happens in the case of hull breaches. Casualties occur upon several events: when a system is critically hit, when a hull breach occurs or when the main reactor overloads, as per Table 11.

Reduced Crew Shipboard Operations:

As the crew members are wounded, fewer valid personnel remain on duty. That may hamper normal ship operations, as the tasks to be done remain the same, yet there are less personnel available. All tests done aboard the ship that require cooperation between the crew therefore suffer penalties, as per Table 12. Obviously, these penalties do not apply to tasks requiring only one person, such as firing a weapon or piloting the ship.

	TABLE 12: REDUCED CREW PENALTIES

	Remaining Crew on Duty:
	Test Penalty:

	100% – 80%
	+0

	80% – 60%
	-2

	60% – 40%
	-5

	40% – 20%
	-9

	Less than 20%
	-15


Healing Casualties:

It is the medical team’s work to undo what terrible damage the weapons may have caused. This may be a lengthy, difficult task, sometimes made of terrible choices – this is the grim reality of the battlefield. When it comes to healing casualties, time is the essence. Each round, the medical team heals a number of people equal to half the result of a Medicine (Traumatology) Combined Test. Among the treated people, two thirds are stabilized but must remain in sickbay; one third is fit to return to duty. Among the other people, who were not treated, 20% (rounded down) die.
Hazards:

Many space-based hazards, such as flying through a nebula or an ion storm, have the potential to cause damage to a system, forcing it to make a system reliability test. Similar to reaction tests, system reliability tests measure the durability and resilience of starships. One of the ship’s Crew rolls 2d6, and adds to this the system’s reliability modifier. The target number for the test depends on the hazard encountered, and can be found on the appropriate tables in the Chapter Hazards. If the total result is less than the reliability test TN, the system suffers damage; mark off the first damage box on the system’s failure track. Depending on the nature and severity of the hazard, a system can be completely knocked out.

EXAMPLE: The U.S.S. Resolute—a Defiant-class ship—explores the Kandar Nebula. Unbeknownst to them, a derelict alien ship drifted into the nebula long ago, and its distress beacon interacts with the nebula’s radiation in a dangerous way, forcing a propulsion reliability check with a TN of 11. The Resolute has class 5a impulse engines with a reliability rating of C (+4), so the Crew of the Resolute rolls 2d6 and adds 4. The result is only 10, and the Resolute must scratch off one box from its propulsion system failure track. The Resolute consequently suffers -2 to all helm maneuvers.
STARSHIP MANEUVERS:

During the Tactical Phase, starships act by performing maneuvers. Maneuvers are ranked by tier, with tier one maneuvers being simpler to perform than tier three maneuvers. Tier two and three maneuvers often require the ship to meet a particular prerequisite, usually one or more maneuvers from a lower tier. Each maneuver has an abbreviated form shown in parentheses—(T) for tactical, (H) for helm, and (C) for command. In addition, maneuvers follow a standard format:

PREREQUISITES: Either the maneuvers that must be successfully executed prior to executing the maneuvers, or restrictions on when the maneuver can be employed. For example, before a ship can use Target System it must first have successfully executed a Lock On maneuver. If a maneuver requires that you do multiple maneuvers first, you must do these maneuvers in the order listed. Restrictions only apply to the previous maneuver, either in the current round or from the round before. 

DURATION: Many maneuvers have a duration of “instant.” The maneuver is performed, takes effect immediately, and then ends. Other maneuvers describe the conditions that cancel the effect.

TARGET NUMBER (TN): This is the target number for skill tests related to the maneuver.

EFFECT: The maneuver’s effects on combat between starships.

Command Maneuvers:

Antimatter Pod Detonation (Command):

A desperate starship equipped by antimatter pods and offline weapon systems can try to eject a pod and detonate it, like a torpedo.

PREREQUISITES: Lock On (T); Point Blank (1) or Short (2) range

DURATION: Instant

TN: Target’s protection + 10

EFFECT: If the maneuver succeeds, the pod does 5 damage to the enemy, and 2 splash damage to all ships in his Point Blank Range.

Cloaked Attack (Command):

The acting vessel comes in fast and disengages its cloak, making an immediate strafing attack to maximize damage before an enemy starship can defend itself.

PREREQUISITES: Must Close (H) by two range increments in one maneuver

DURATION: Instant

TN: 15

EFFECT: This maneuver allows the acting starship to reduce the target’s range to either point blank or close, and the tactical officer may perform a free Decloak (T) and one tactical maneuver of his choice (though the officer must have individual actions available). If the Decloak maneuver fails, the ship drops its cloak but is unable to bring its weapons to bear, and its shields remain down until the next round.

Combine Fire (Command):

Several starships combine their fire on their target, under the lead of the acting ship, in an attempt to penetrate the shields more efficiently.

PREREQUISITES: Lock On (T)

DURATION: Instant

TN: Target’s protection + 3 per ship combining fire

EFFECT: The TN of this maneuver is the target’s protection + 3 for each ship the commanding officer wants to rally. If successful, the acting ship gets an immediate additional tactical maneuver to attack the target. It gets a penetration bonus for this maneuver, equal to +1 per rallied ship. In the case of an Extraordinary Success, the acting ship gets +1.5 overall penetration per rallied ship (rounded down).

Forge Readings (Command):

Using the navigational deflector as an emitter for a certain type of energy and some Holo-emitter’s, a ship can try to fool its enemies’ sensors. It can try to create an echo of itself, or a shadow of its warp signature, for example, creating the illusion that there are two ships instead of one.

PREREQUISITES: Starship with a functional navigational deflector and the Holo-emitter Edge.

DURATION: Until revealed (see Effect)

TN: 15

EFFECT: If the maneuver succeeds, character must make a Systems Ops “Operations” (Navigational Deflector) test at TN 20 to create the illusion (he must still have available actions to perform). If the test succeeds, roll 1D6 for each enemy ship intending to take the acting ship as target. On an odd result, the acting ship is indeed taken as target; on an even result, the image is taken. The illusion lasts for a certain time, determined by the test result of the maneuver roll: one round for a Complete Success, two for a Superior Success and three for an Extraordinary Success. However, if any enemy ship succeeds at an Analyze Ships Status against the illusion, the trick is revealed and all effects lost. Enemy ships having taken the image as target may choose freely another target in the current round. This maneuver can only be used once in combat.

Formation Flying (Command):

The character organizes a small group of Starships to fly in formation, with you as their wing commander.

Prerequisites: 3 or more ships must be in Point Blank Range, each ship must use a maneuver to initiate the Formation.

Duration: A Starship stays in Wing formation until he voluntarily leaves using the Formation Flying maneuver.

TN: 15

Effect: If the Formation Flying maneuver test is successful immediately all ships in Point Blank Range that wants to participate make a Starship Ops “Command” (Helm) TN 10 test, this is considered one maneuver of their ships action allowance. If their helm maneuver is successful, they have joined the wing. If one of the ships fails disastrously on this test the wing falls apart and all ships suffer a minor collision. Use one starship base to represent the entire wing on the play mate. All ships in the formation act immediately on the Initiative number of the Wing Commander’s ship, additionally all ships in the wing get a bonus: +1 for Marginal Success, +2 for a Complete Success, +3 for a Superior Success, and +4 for an Extra-ordinary Success. The bonuses can be used to in any combination to increase the protection or get a bonus on Tactical maneuvers. Their are some downfalls of this maneuver. One of them is that when moving the wing during the movement phase you make one System Ops “Command” (Helm) test using the lowest skill level and attribute of all the wing pilots. Also the wing is considered one target for the Match Speed (Helm) maneuver, and when failing disastrously on Maneuver or Helm tests the wing falls apart and all ships suffers a minor collision.

Full Attack (Command):

The starship lays down a withering hail of fire, attacking with every available weapon at a multitude of targets.

PREREQUISITES: Lock On (T), Match Speed (H); must be at point blank or short range

DURATION: Instant

TN: 25

EFFECT: This is an extremely difficult maneuver to perform. The acting ship must currently have Lock On and Match Speed, as well as being in the point blank or short range increment. If successful, the tactical officer may perform two Tactical maneuvers for free (though he must have individual actions available to perform). These maneuvers do not count against the ship’s action allowance.

Pentis Maneuver (Command):

Developed by Commander Pentis of the starship Blackthorn, the Pentis Maneuver uses the hull of the acting starship as a “lightening rod” to absorb discharge from an ion storm and redirect through the main deflector as a coherent energy beam.

PREREQUISITES: Full Stop (H); requires an ion storm within point blank range

DURATION: Instant

TN: 25

EFFECT: An exceedingly difficult and dangerous maneuver; the acting starship first places itself in harm’s way by coming to a full stop within or next to an ion storm. The ship’s hull is then charged, attracting ion discharge from the storm and funneling it through the main deflector. An immediate Multifire action is made for free against all enemy vessels within range. A successful hit inflicts the ion storm’s rating times 5 in penetration to the enemy vessel and burns out the acting starship’s main deflector array, preventing the use of this maneuver again (until repaired). In the case of level 6 or stronger ion storms, also apply the ion storm’s damage to the acting vessel’s structure, even if it did not perform the maneuver while inside the storm.

Picard Maneuver (Command):

Made famous by its inventor, Captain Jean-Luc Picard, this maneuver is especially difficult to perform. The starship takes advantage of realistic time dilatation by using a short warp speed burst to appear in two places at once, and then fire on its opponent.

PREREQUISITES: Micro Warp Burst, Lock On (T)

DURATION: Instant

TN: 25

EFFECT: The Helm must take an action to make a System Ops “Command” (Helm) Test TN 10 to initiate the micro warp burst (use the rules for warping out pg 6 Starship Operation Rules). If successful the acting ship moves his ship in a straight line in the direction of the target ship anywhere on the play mate. Upon performing this maneuver, the acting ship generates an after image that results in a +5 bonus to its protection for the duration of the round. If the test results in a complete failure then you crash onto the target ship, you and the target suffer from a minor collision. When achieving a Disastrous failure increase it to a major collision. In addition, the tactical officer may perform one tactical maneuver in excess of the ship’s action allowance for the round. To perform this maneuver the tactical officer must use one of his individual actions and must still make the appropriate skill test. 

Plasma Field (Command):

A ship can attempt to channel warp plasma through its navigational deflector, emitting it as a coherent energy beam to try to knock the enemy propulsion systems out of commission.

PREREQUISITES: Point Blank (1) or Short (2) range; starship equipped with a warp system and a navigational deflector

DURATION: Instant

TN: 25

EFFECT: If the maneuver succeeds, the ship’s engineer must take a Systems Engineering (Navigational Deflector) test at TN 15 to focus the beam (he must still have available actions to perform). If the test succeeds, the target’s propulsion system suffers damage equal to half the acting ship’s shield system reliability modifier (round up). If the Engineering test is a Complete Failure or worse, the acting ship suffers the effect of the plasma field, and the navigational deflector is burned out.
Reassess Battlefield (Command):

The commanding officer takes some time to reassess the tactical situation of the battlefield, hoping to see a way to gain an advantage.

PREREQUISITES: None

DURATION: Until initiative changes again

TN: Not applicable

EFFECT: The acting ship makes a new initiative roll (reduced by -5 to account for the combat stress), and keeps this new score as if it was the one rolled at the beginning of combat. The new acting order takes place at the following round and onwards. For the rest follow the same rules as normal initiative.

Riker Maneuver (Command):

Named after Commander Riker of the starship Enterprise, the Riker Maneuver is not only difficult to perform but requires the availability of dangerous nebulae gasses to use as a last-ditch weapon. When successful, however, the Riker Maneuver can turn the tide of battle.

PREREQUISITES: Must be at point blank or short range and access to nebulae gasses

DURATION: 1 round

TN: 25

EFFECT: The engineer must take an action to make a Propulsion Engineering Test TN 15 when collecting the explosive gases to prevent damage to the propulsion system by doing so, the propulsion gets 2 boxes of damage in case of failure After reactive gasses are collected through the vessel’s Bussard collectors (or other suitable system) they are then vented into the wake of the vessel, leading the targets into the gas cloud (metreon gas is preferred). The gas is then ignited (no test required), surrounding the enemy vessels. All enemy vessels within point blank or short range back 90° fire angle take 2d6+5 points of structural damage with shields offering no protection. On an unsuccessful test for this maneuver, the enemy vessels successfully avoid the explosive patch.

Shield Disruption (Command):

The ship reconfigures its navigational deflector to emit a beam of antiprotons, or an interferometric pulse, at very short range against its target. This may disrupt the enemy shields.

PREREQUISITES: Starship only; functional navigational deflector; Point Blank (1) range

DURATION: Instant

TN: Target’s protection + 15

EFFECT: If the maneuver is successful, have the ship’s engineer roll a Systems Engineering (Shields) at TN 15 – he must still be able to perform individual actions. If this succeeds, the tactical officer may perform a Fire maneuver for free – but no damage is applied, instead, if the Fire maneuver succeeds, the target’s shield strength is reduced to zero. If the test results in a Complete Failure or worse, the navigational deflector burns out.

Shield Repulsing (Command):

The acting ships reverses the polarity of its shields, then brushes its target’s so as to push it through space, sending it tumbling out of the way. The acting ship may also manage to “bounce” on its target’s shields, increasing the distance separating both ships.

PREREQUISITES: Used by ships on ships only, Point Blank (1) range, cannot be used after Full Stop (H), shield grid or similar system installed aboard the acting ship, must be used immediately after a succeeded System Operation (Shields) test

DURATION: For the next round

TN: Target’s protection - Size + 5

EFFECT: Immediately before using this maneuver, the acting ship must roll a successful Starship Operations (Shields) (TN 13) to reverse its shields’ polarity. Then, if the maneuver succeeds, the target loses -1 to all Helm maneuvers for the next round, and the range between the ships is increased by 1 in the case of a Superior Success and by 2 for an Extraordinary Success. In case of a Complete Failure, the two ships suffer damage as per a Minor Collision; for a Dramatic Failure, a Major Collision happens.

Solar Flare (Command):

A ship can attempt to generate a solar flare by firing an electromagnetic pulse into the corona. This is a very dangerous maneuver to perform – but very efficient.

PREREQUISITES: Acting ship in the star’s corona.

DURATION: Instant

TN: 25

EFFECT: If the maneuver succeeds, a massive solar flare is generated, obliterating everything on its path (300 million kilometers in a straight line, just behind the acting starship), from ship to station. If it results in a Dramatic Failure, the acting ship itself is obliterated as well.

Thruster Knockout (Command):

The acting ship brushes its target’s shields in an attempt to knock out its thrusters, therefore hampering its normal helm operations.

PREREQUISITES: Used by ships on ships only, both ship and target equipped with shields, Lock On (T), and Match Speed (H)

DURATION: Until helm penalties reach 0

TN: Target’s protection - Size + 10

EFFECT: If the maneuver succeeds, the target loses -1 to all Helm maneuvers for the next round in the case of a Complete success, -2 for a Superior success and -3 for an Extraordinary success. These penalties are reduced by 1 on the following round until they are again equal to 0. Thruster Knockout cannot be attempted again for as long as the target suffers helm modifiers due to a previous Thruster Knockout maneuver.

EXAMPLE: The USS Defiant tries to knock out a Dominion attack ship’s thrusters. The roll is a Superior Success; the Dominion ship will suffer -2 to all helm maneuvers on the following round, then -1 on the round after that. The Defiant will be able to attempt a Thruster Knockout maneuver again on the third round.

Tractor Disruption (Command):

The ship or station modulates its tractor beam emitters against its target so as to create an energy surge in its systems, hoping to disrupt them.

PREREQUISITES: Functional tractor beams, Lock On (T), Point Blank (1) range, enemy status successfully analyzed

DURATION: Instant

TN: 20

EFFECT: This maneuver may only be attempted if the acting ship has already analyzed its target’s status, explicitly searching for the right tractor beam modulation. If the maneuver if successful, the acting ship must then succeed at a Systems Engineering (Tractor Beam), the TN being the target’s protection + 5. If this test is successful, the target suffers two critical hits to its propulsion system if it is a starship, or to its power system in the case of a station. If this test is a Complete Failure or worse, the tractor beams are destroyed.

Tractor Dodge (Command):

The ship or base tries to use its tractor beams in a desperate attempt to deflect enemy weapons’ fire.

PREREQUISITES: Functional tractor beams, Lock On (T)

DURATION: Until next round

TN: 20

EFFECT: If the maneuver if successful, the acting ship gains +5 protection against fire from its target.

Tractor Hold (Command):

The ship or base tries to disrupt its target’s moves by locking a tractor beam on it.

PREREQUISITES: Lock On (T), target at Point Blank (1) or Short (2) range, tow able with the available tractor beams

DURATION: Instant

TN: Target’s protection + 5

EFFECT: Before executing this maneuver, choose how much protection points you will lose. If the maneuver succeeds, for each -3 points of protection lost, the target loses -1 to all maneuvers. It cannot lose more than -3 in this fashion. Against Klingon ships, this maneuver has them lose -10 to tactical maneuvers instead of the classical -1, because their targeting systems are vulnerable to coherent graviton emissions.

Tractor Lock (Command):

The ship or base tries to hold its target in place, to prevent it from escaping.

PREREQUISITES: Lock On (T), target at Point Blank (1) range, towable with the available tractor beams

DURATION: Until broken

TN: Target’s protection + 10

EFFECT: If the maneuver is a success, the acting ship or base becomes completely immobile and therefore gains automatically the effects of Full Stop (H). However, it cannot attack the ship it holds in its tractor beam because of its closeness. The locked ship cannot go to warp. The targeted ship suffers a penalty equal to the acting ship’s size to all helm maneuvers. Tractor lock lasts until broken by the acting ship, or if the targeted ship manages to escape the lock, either by overloading the generators – inflict one damage point to the operations system then roll a successful System Operations (Operations) test, TN 25, that can be lowered to 15 through the sacrifice of the navigational deflector; this can be only attempted once – or through talented piloting – pull off a Superior Success or better during an Opposed Test pitting the acting ship attempting a Helm maneuver, and a reliability test for the opponent’s operations system (See “Escaping”).

Verteron Pulse (Command):

A ship can attempt to emit a verteron pulse through its navigational deflector. These particles interfere with subspace, knocking out vital ship systems.

PREREQUISITES: Point Blank (1) range; starship equipped with a navigational deflector

DURATION: Instant

TN: Target’s protection + 20

EFFECT: If the maneuver succeeds, the ship’s engineer must take an Systems Engineering (Navigational Deflector) test at TN 20 to focus the verteron pulse (he must still have available actions to perform). If the test succeeds, the enemy ship’s shield, propulsion and sensor systems are knocked out for a certain time. The time is determined by the test result of the maneuver roll: one round for a Complete Success, two for a Superior Success and three for an Extraordinary Success. If this test is a Complete Failure or worse, the acting ship suffers the effect of the pulse, and the navigational deflector is burned out.
Helm Maneuvers:

Dodge (Helm)

The acting ship suddenly pitches to avoid an attack.

PREREQUISITES: Cannot be used after Full Stop (H)

DURATION: Instant

TN: 20

EFFECT: Choose a ship. If the maneuver succeeds, the acting ship gains +8 Protection against the chosen ship; if it fails, it loses -8 Protection against it.

Evasion (Helm)

The ship performs a series of sharp pitches and rolls to shake off attackers.

PREREQUISITES: None

DURATION: Instant

TN: 10 + 3 per attacker

EFFECT: For each attacker the ship wants to shake off, the helmsman adds +3 to the TN of his System Ops (Helm) skill test.

The ships dodged lose Lock On. Those that didn’t have Lock On add +5 to the TN of their tactical skill tests to attack the ship the next time they act. 

Full Stop (Helm):

The starship comes to a full stop, making it essentially an immobile weapons platform. The ship sacrifices mobility, and increases the likelihood of being attacked, for an improved chance to successfully attack.

PREREQUISITES: None.

DURATION: Until another Helm maneuver is executed

TN: 5

EFFECT: This maneuver grants a +5 bonus to System Operations (Tactical) skill tests while the ship remains at Full Stop, but reduces the ship’s protection by -5.
SPECIAL: If the Star 
Intercede (Helm):

The acting ship tries to interpose itself between an attacked ship and its attacker, in order to protect it by drawing enemy fire.

PREREQUISITES: Cannot be used after Full Attack(C); object to protect of equal Size of smaller than the acting ship

DURATION: Until broken, or the attacker changes range

TN: 15

EFFECT: The acting ship interposes itself between an object (or attacked ship) and its attacker, in order to protect it by drawing enemy fire. If this maneuver is a success and the ships is so positioned that when measuring combat range any part of the Range Ruler between the attacking ship and the object overlaps the acting ship, then the attacking ship cannot fire beam weapons and suffers +3 to the TN when firing warheads at the protected object As a result of protecting the object the acting ship loses -5 Protection against all ships. These effects remain as long as the acting ship is positioned between the attacking ship and its target (see above), or when the acting ship decides to break the intercession.

Land (Helm):

This maneuver allows ships with atmospheric capability to land on planets, starbases’ landing pads, asteroids…

PREREQUISITES: Ship in Low Atmosphere; planet of class any other than J or T OR ship at Point Blank (1) range with its mother ship, Match Speed (H) if mother ship is moving.

DURATION: Instant

TN: 5 + 2 x Size + eventual modifiers due to conditions

EFFECT: To have a character perform this maneuver, the Narrator might want to add some penalties due to the conditions, such as visibility or the stability of the landing ground. If the maneuver is successful, the ship manages to land. In the case of a Failure, the approach maneuver fails and the Helm officer has to try again; in the case of Complete Failure, the ship crashes more than it lands, and suffers damage equal to its Size. In the case of a Dramatic Failure, the ship does crash and suffers damage equal to double its Size. Crash damage is halved if the shuttle tries to land in a shuttlebay with emergency force-fields raised. The ship gains then all effects relative to landing.

Match Speed (Helm):

The starship matches its speed relative to that of its target. This makes the target easier to hit.

PREREQUISITES: None

DURATION: Lasts while range is maintained

TN: Target’s protection+5

EFFECT: With a successful skill test, the starship matches speed with its target. As long as the two ships maintain the same distance the acting starship performing this maneuver gains a +5 bonus to Starship Ops “Tactical” (Specific weapon) tests made to attack.

Maximum Coverage (Helm):

The ship orients itself toward its target so as to maximise the impact of its weapons arrays.

DURATION: Instant

TN: Target’s protection

EFFECT: If the maneuver is successful, the overall penetration of the ship’s next tactical maneuver is increased by 1 in the case of a Complete Success, by 2 for a Superior Success, and by 3 for an Extraordinary Success. If the acting ship does not perform a tactical maneuver just after Maximum Coverage, then the effects are lost.

Minimal Aspect (Helm):

The starship performs a series of pitches and rolls in order to present the smallest possible aspect (profile) to enemy vessels, making the vessel harder to hit.

PREREQUISITES: None

DURATION: Instant

TN: 10

EFFECT: Minimal Aspect allows a ship to break an opponent’s Lock On maneuver. If the attacking ship does not have a Lock On then the defender adds +2 to its protection rating against all attacks until the next executed Helm maneuver. Increase the protection by 1 for a Complete Success, by 2 for a Superior Success, and by 3 for an Extraordinary Success (The benefits of the higher levels of success apply also if the Lock On is broken).
Ramming Speed (Helm):

In a last ditch effort to stop the enemy no matter the cost, the starship rams into the opposing vessel. Although this sacrifices both ship and the crew, it usually destroys the opposing ship.

PREREQUISITES: Point blank range; cannot be used at Full Stop (H)

DURATION: Instant

TN: Target’s protection - Size

EFFECT: The helmsman makes a System Ops “Command” (Helm) test against a target number equal to the target’s protection minus its size. This reflects the ease of hitting larger ships and the difficulty in hitting smaller ships. The target ship suffers damage equal to the ramming ship’s current structure + current shield strength. The acting ship suffers reciprocal damage (determined by the target’s remaining structure and shield strength).

Scorpion Evasive (Helm)

A ship performing this maneuver conducts evasive maneuvers dangerously close to an opposing vessel in hopes of having weapons fire targeting the acting vessel hit the enemy instead.

PREREQUISITES: Point blank range; cannot be used at Full Stop (H)

DURATION: Instant

TN: 20

EFFECT: The ship dives at a target while a second enemy ship targets the acting vessel. The acting vessel executes a series of evasive pitches and rolls hoping to draw fire that instead hits its target. If this maneuver is successful, and the ships is so positioned that when measuring combat range any part of the Range Ruler between the attacking ship and the target overlaps the acting ship, then increase the acting vessel’s protection by +5. Any shots that would normally hit the target vessel but miss because of the +5 protection increase instead hit the target vessel, regardless of its protection rating. Resolve damage as normal. In addition, the acting vessel may make a free Fire (T) maneuver against its target, provided the tactical officer has an individual action available.

Take Cover (Helm):

The acting ship tries to hide behind a large object and relatively static, such as a large asteroid, a planet or a starbase, in order to suffer less from enemy fire.

PREREQUISITES: Cannot be used after Full Attack (C); object to hide behind at Point Blank (1) range, bigger than the ship and no bigger than a planet

DURATION: Until broken, or the range with the cover changes

TN: 15

EFFECT: The acting ship tries to hide behind a large object and relatively static, such as a large asteroid, a planet or a starbase, in order to suffer less from enemy fire. If this maneuver is a success, one attacker cannot fire beam weapons at the acting ship and suffers +3 to the TN when firing warheads. These penalties are canceled as soon as the range between the attacker and the cover change. If the result is a Dramatic Failure or worse, the acting ship is considered to have entered the phenomena, with no penalties to the attacker. If this is irrelevant (i.e., the ship attempted to hide behind an asteroid) then a Major Collision occurs.

Take Off (Helm):

This maneuver allows ships with atmospheric capability to takeoff from their landing point.

PREREQUISITES: Landed ship

DURATION: Instant

TN: 5

EFFECT: If the maneuver is successful, the ship manages to takeoff. The ship loses all effects relative to landing. In the case of a Dramatic Failure, the ship takes off momentarily then crashes back again, suffering damage equal to its Size.

Warp Away (Helm):

The starship disengages from battle entirely by warping away. 

PREREQUISITES: None

DURATION: Instant

TN: 10+5 per additional target

EFFECT: The starship disengages from battle entirely by warping away. This test represents the helmsman’s ability to steer a course clear of opposing ships. Failure could indicate that another opponent blocked the ship. The Narrator applies the Warping Out modifiers (See starship Operation Rules).

Zeroing In (Helm):

The acting ship orients itself at a ship in range and uses its position to fire.

PREREQUISITES: Targeted ship at Medium range (3) or closer in your forward arc.

DURATION: Instant

TN: Targeted ship’s protection + 5

EFFECT: If this maneuver is successful you made an attack roll on a target ship in your forward arc, and that is at range Medium (3) or closer. Apply one weapon penetration normally, as per the Fire maneuver.

Tactical Maneuvers:

Chain Collision (Tactical)

The ship fires at its target, hoping to send it on a collision course with one of its allies, or at least hoping that good-sized hull fragments will collide with the other ship.

PREREQUISITES: Lock On (T), Point Blank Range with other ship, Target ship must be in the Fire arc of the weapon used for this maneuver.

DURATION: Instant

TN: Target’s protection + other ship’s protection + 10

EFFECT: If the maneuver is a Complete Success, both ships suffer damage as per a minor collision. In the case of a Superior Success, a major collision happens, and for an Extraordinary Success, a full collision occurs.

Cloak/Decloak:

You Cloak or Decloak the Starship.

PREREQUISITES: None

TN: 15
EFFECT: You Cloak or Decloak the Starship. If this maneuver fails when decloaking, the ship drops its cloak but is unable to bring its weapons to bear, and its shields remain down until the next round.

Concentrate Fire (Tactical)

The ship fires one weapon system as a concentrated volley in an attempt to increase the damage in one point, but at the sacrifice of pinpoint accuracy.

PREREQUISITES: Target ship must be in the Fire arc of the weapon used for this maneuver.

DURATION: Instant

TN: Target’s protection

EFFECT: When applying this maneuver, choose one Beam weapon, such as phasers or disruptors. For each beam bank available of the given weapon, the tactical officer can choose to apply a -3 penalty to the skill test made to attack, for a bonus of +1 to the weapon’s penetration, up to a maximum of +3 Penetration.

Exploit Weakness (Tactical)

The acting ship looks for a minute flaw in its target‘s defensive systems, from a momentary weakness in the shields to a fluctuation in the power grid.

PREREQUISITES: Lock On (T), a succeeded sensor test analyzing the ship’s status, which is used only to look for the weakness, Target ship must be in the Fire arc of the weapon used for this maneuver.

DURATION: Instant

TN: Target’s protection+10

EFFECT: Before using this maneuver, the acting ship must have successfully analyzed its target’s status. The weakness is used as a “piece of information” given about the target vessel – i.e., a Complete Success allows the sensors officer to find about the weakness and nothing else, a Superior Success gives away the weakness and another piece of information, and so on. Then, the ship can use the maneuver: the ship fires one of its weapon systems at the target, just like the Fire maneuver. However, for the duration of the maneuver, the threshold of the ship’s defensive systems is reduced by 1 in the case of a Complete Success made on the attack roll, by 2 for a Superior Success and 3 for an Extraordinary Success. As an additional effect, it’s possible to try to beam personnel aboard the enemy ship by exploiting the weakness, if the maneuver is a success. This requires a System Operations (Transporters) test (TN 20). In the case of a Failure, the beam-out fails and may be attempted only at the next succeeded execution of the maneuver. For a Disastrous Failure, all characters transported suffer a mis-rematerialization. A number of personnel up to the number of personnel transporters may be transported in this manner. A new sensor test analyzing the spacecraft’s status (with the TN increasing accordingly) must be rolled for each new execution of this maneuver – the defensive array weakness is always erased by the ship’s attack, as power is redistributed to sustain the impact, making a new scan necessary to find another “blind spot”.

Fire (Tactical):

The basic attack command, the starship fires either its beam weapons, photon torpedoes, or other weapons.

PREREQUISITES: Target ship must be in the Fire arc of the weapon used for this maneuver.

DURATION: Instant

TN: Target’s Protection

EFFECT: The acting ship fires one weapon system at its target, using its protection as the TN to hit.

Lock On (Tactical):

The tactical officer locks weapons onto an opposing ship, concentrating the ship’s fire against a single opponent. The ship’s targeting computers give attack priority to the affected opposing starship, making attacks against other vessels more difficult.

PREREQUISITES: None

DURATION: Lasts until broken by another maneuver

TN: Target’s protection

EFFECT: Establishing Lock On with a target increases the effectiveness of your weapon systems and allows you to execute more complex attack commands. Once Lock On has been achieved, it lasts until broken by an opposing ship’s maneuver, and until then affects all attack tests made by the acting ship. Lock On provides a +3 bonus to skill tests made to attack the target ship.

Multifire (Tactical):

The starship fires one weapons system at multiple ships, regardless of its target.

PREREQUISITES: All targets must be in the same range increment, Target ships must be in the Fire arc of the weapon used for this maneuver.

DURATION: Instant

TN: Each target’s protection±3 TN/opponent

EFFECT: Choose one weapons system affected by this maneuver—such as beam weapons or torpedoes. The starship fires this system at multiple targets. The tactical officer declares which ships he’s targeting and the order of attack before he makes his first roll (though the target must be attacked first). Roll one attack test for each target, suffering a cumulative, -3 test penalty for each additional opponent attacked after the first. For example, firing at the target has no Multifire penalty, but firing on a second target incurs a -3 penalty, a third target a -6 penalty and so on. A failed test does not halt the chain of attacks; roll damage for each successful attack separately.

Multiweapon (Tactical):

The starship fires two or more weapons systems (phasers and photon torpedoes, for example) at one opponent.

PREREQUISITES: Lock On (T), Target ship must be in the Fire arc of the weapon used for this maneuver.

DURATION: Instant

TN: Target’s protection+10

EFFECT: With a successful skill test made to attack, the target suffers damage from each weapon system employed. Combine penetration values for the weapons and apply the aggregate to the target ship’s shields. For example, phasers with penetration 5 and a Quantum torpedoes with penetration 6 have a combined penetration of 11. The target number for the attack is equal to the target’s protection+10. The tactical officer makes one attack skill test.

Random Fire (Tactical)

Where one doesn’t know where the target is, for example if the ship is blind or the enemy cloaked, a desperate way to fight is to shoot wildly in all directions in a hope to hit something.

PREREQUISITES: Target ship must be in the Fire arc of the weapon used for this maneuver.

DURATION: Instant

TN: Protection + 15

EFFECT: As this maneuver implies shooting blind, if the ship’s sensors are offline, the usual -8 penalty is not applied for this maneuver. Only beam weapons may be used for Random Fire. If this maneuver succeeds, the acting ship actually hits the target. However, since the weapon has been fired in short pulses, it lacks real power. Only a third (rounded down) of the penetration damage is applied. On a Complete Failure or worse, the ship hits an ally.

Shield Dimple (Tactical):

This technique implies firing a beam weapon at the opponent’s shields to weaken them in one point, then firing immediately a warhead, hoping the shield will let it pass and that it will detonate directly against the enemy hull.

PREREQUISITES: Beam and warhead weapons; Medium range (3) or closer, Target ship must be in the Fire arc of the weapon used for this maneuver.

DURATION: Instant

TN: Target’s protection + 10

EFFECT: When attempting this maneuver, choose a beam weapon and a warhead weapon to be used. If the maneuver is a success, apply directly the warhead penetration to the enemy’s structure, ignoring shields. People can be transported aboard the enemy ship in the short time the window opens (see “Transporting Through Shields).

Spread (Tactical):

The ship fires several weapons at once in a screen to increase the chances of hitting, but at the sacrifice of pinpoint accuracy.

PREREQUISITES: Target ship must be in the Fire arc of the weapon used for this maneuver.

DURATION: Instant

TN: Target’s protection

EFFECT: When applying this maneuver, choose one weapon system, such as phasers, disruptors, or photon torpedoes. 

This maneuver grants a +3 bonus to the skill test made to attack, for every -1 the tactical officer applies to the weapon’s penetration, up to a maximum of -3.

Target Secondary System (Tactical):

The tactical officer chooses a specific secondary system on the attacked ship – fire suppression, escape pods… and fires on it in an attempt to disable it.

PREREQUISITES: Lock On (T), Target ship must be in the Fire arc of the weapon used for this maneuver.

DURATION: Instant

TN: Target’s protection + 15

EFFECT: Choose a secondary system targeted by the maneuver and make an attack roll. If it succeeds and the attack inflicts at least 3 points of structural damage, the chosen system goes offline until repaired.

Target System (Tactical):

The tactical officer targets a specific system on an opposing ship—a weapons system, the propulsion system—in the hopes of disabling it. If the attack penetrates the target’s shields and exceeds the shield’s threshold, the damage is inflicted directly to the system in question.

PREREQUISITES: Lock On (T), Target ship must be in the Fire arc of the weapon used for this maneuver.

DURATION: Instant

TN: Target’s protection+10

EFFECT: Choose a system targeted by this maneuver and make an attack test with the TN equal to the target’s protection + 10. With a successful attack test, apply damage directly to the targeted system (rather than to the ship’s structural damage track). For every 3 points of damage in excess of the targets shields threshold mark off one box of damage on the targeted system’s damage track.

"Watch And Learn" (Tactical):

The tactical officer fires a warhead in the vicinity of enemy ships, and then uses a beam weapon to detonate it, sending an EM shockwave to disrupt systems.

PREREQUISITES: All targets in the same range increment; acting ship or station equipped with a warhead launcher and a beam weapon, Target ship must be in the Fire arc of the weapon used for this maneuver.

DURATION: Instant

TN: 5 + sum of the targets’ protections

EFFECT: If the maneuver is successful, all targets suffer the penetration ratio of the warhead plus the beam weapon used. For every 3 points of damage suffered by the vessels, the operations system takes 1 point of damage.

Starship Creation:

Convert some aspects of your starship to use it with this starship combat system.

Base Movement:

Every starship has a Base Movement, and it’s affected by Starship Traits: High Acceleration, Nimble, Slow, and Sluggish.
	
	Table 13: Movement:

	Speed:
	Turn (90°):
	Bank (45°):
	Straight:
	Bank (45°):
	Turn (90°):

	4
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Weapons:

Divide the Beam weapon’s Offensive value over the 4 Arcs. The front Angle Offensive Value cannot be lower than the weapons Beam Type Offensive Value, and its penetration value must be one level higher than the other angles. When purchasing Missile weapons they can automatically be fired in 2 opposed fire angles (Example: Front and Back 90°), the downfall is that they need a target lock to fire.
1) Up to 90° Front Firing Arc (70 % full offense value)
2) 91°-180° Firing Arc (15% full offense value)

3) 181°-270 ° Firing Arc (10% full offense value)
4) 271°-360° Firing Arc (5% full offense value)

New List of Offense Value

1-2
2/2/1/0/0

3-4
2/2/2/0/0

Starship Edges:

Enhanced Fire Arc:

The ship has a higher fire arc.

Prerequisites: No 271°-360° Fire Arc.
Effect: You get 1 extra Fire arc. The Penetration is equal to the last Fire Arc. Example: 

High Acceleration:
The ship accelerates incredibly fast.

Prerequisites: Speed 0,75c+
Effect: The starship Base Movement includes the speed 5 and 6 straight ([image: image28.jpg]


) movements.

Nimble:

Agile and swift, the starship is well suited for maneuvering.

Prerequisites: Size 5 or Smaller

Effect: The starship Base Movement includes speed 1 speed Turn (90°), and all Come About (180°) movements.

Special: The starship Base Movement also includes the speed 5-6 Come About (180°) movements if it has the High Acceleration Starship Edge 
Rotary Weapon System:

You have beam weapon coverage in all the arcs.

Prerequisites: Starbase with 4 installments of the same beam weapon type.

Effect: You divide the Offensive value evenly over all the arcs.
Special: The Unique System Starship Edge can be used to acquire this particular edge.

Starship Flaws:

Reduced Firing Arc:

Your weapon coverage is reduced.

Effect: Reduce the fire arc by 1 arc. The lost offensive Value of the arc is added to the front 90° fire arc.

Special: You can take this flaw multiple times to a minimum of 1 fire Arc.
Slow:

The acceleration of the ship in combat is extremely slow.

Effect: The starship Base Movement does no longer include speed 4 movements.

Special: The ship can still convert power to the engines to perform the maneuvers.

Sluggish:

The starship doesn’t turn easily.

Effect: The starship Base Movement does no longer includes any Turn (90°) movements.
Special: The ship can still convert power to the engines to perform the maneuvers.

Starship MINIATURES & STARSHIP BASES:
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How to cut out the circle:

